PSL REVISION QUESTIONS

1- At which phase is LH going to achieve its maximum plasma concentration,

a) End of follicular.

b) At the middle of the luteal phase.

c) At the beginning of the follicular phase.

Answer is A.. 

Follicular phase includes both menstal and proliferative phase.

The LH surge comes at the end of the proliferative ( or the follicular ) phase and induces ovulation. 

The main stimulant for this surge is the great increase in Estrogen conc. With out noticeable increase in progesterone level making a positive feed back to the LH level to increase as well. 
2- The events associated with ovulation is initiated by,

a) Surge of plasma conc. Of estrogen .

b) Surge of LH.

c) Surge of Progesteron

The answer is A ,.. 
Please note that if the question asked what surge will cause the ovulation then the answer is B but since it asked about the associated events then it is apparently A.

3- In the non-pregnant women, the most important source of Progesteron is,
a) Corpus Luteum.

b) Follicular Thecal cells.

c) Memebrana granuolsal cells.

The answer is A.

     4) Of the following processes, which is responsible to cause the endometrium to be sloghed off at times of menstruation,

      a) Reduction of Estrogen and Progesteron levels.

      b) Reduction of  LH conc.

      c) Remarkable reduction in FSH concentration.
Answer is A.

 Estrogen has an important rule in the Growth of the endometrium while Progesteron has an important rule in the growth of the enometrium and in its secretions.
NOTES,

Estrogen stimulates contraction and increases the motility of the uterine wall by increasing  the pituitary receptors for oxcytosine stimulation thus increasing the oxytosine production from the Pars Posterior ( or the posterior lobe if the pituitary). In contrast, Progesteron inhibits uterine contractions and causes its relaxation.

Therefore, at the end of pregnancy, the estrogen / progesterone ratio increases to enable the uterine contrations and stimulates labor.

   The main inhibitor of FSH secretion is the hormone inhibin which is secreted by sertoli cells in males and by corpus luteum in females.
5) The hormone Estrogen has all of the following actions except,

a)  Stimulates growth of epiphysial plate.

b) Causes the endometrial wall to stop growing and start secretion.

c) stimulates Breast Growth.

Answer is C.. 
NO hormone is responsible for this although progesterone stimulates secretion of the endometrium and growth of it.

6) The Increase of Plasma concentration of FSH and LH just prior to menstruation is caused by,
a) decrease the plasma levels of both estrogen and progesterone.

( In other words, no feed back  inhibition )

b) Surge in GnRH secretion.

c) ovarian Progesteron.
Answer is a.
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